

HILLSBOROUGH 43059 X-A005(028)

PROJECT: HILLSBOROUGH

STATE PROJECT NUMBER: 43059

FED. PROJECT NUMBER: X-A005(028)

DATE BIDS OPEN:

September 30, 2021,

SCOPE OF WORK: Pavement preservation

COMPLETION DATE: LOCATION:

September 30, 2022 Hillsborough Awarded To: CONTINENTAL PAVING INC

1 CONTINENTAL DRIVE LONDONDERRY, NH 03053

Amount: Award Date: \$3,593,613.90

Certified by: PETER.E.STAMNAS

Director of Project Development

Summary of Bidders

Contractor	Bid Amount	Rank
CONTINENTAL PAVING INC 1 CONTINENTAL DRIVE, LONDONDERRY NH 03053	\$3,593,613.90	А
PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD, BELMONT NH 03220	\$3,633,689.33	В
EUROVIA ATLANTIC COAST LLC 216 MOUNT HERMON STATION ROAD, NORTHFIELD MA 01360	\$3,785,280.10	С
GMI ASPHALT LLC 288 LACONIA ROAD, BELMONT NH 03220	\$3,930,838.38	D
BROX INDUSTRIES, INC. 1471 METHUEN STREET, DRACUT MA 01826	\$3,986,452.68	E



HILLSBOROUGH 43059 X-A005(028)

				ı	PS&E	1 CONTIN	AL PAVING INC ENTAL DRIVE RRY, NH 03053	3 EASTGAT	JSTRIES, INC. TE PARK ROAD TT, NH 03220
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

202.7	REMOVAL OF GUARDRAIL	LF	5.500.00	\$3.20	\$17,600.00	\$4.00	\$22,000.00	\$3.00	\$16,500.00
203.5561	EAGRT PLATFORM PREFERRED	U	35.00	·	\$50,400.00	,	\$63,000.00	,	\$42,000.00
				\$1,440.00		\$1,800.00		\$1,200.00	
206.1	COMMON STRUCTURE EXCAVATION	CY	26.00	\$320.00	\$8,320.00	\$200.00	\$5,200.00	\$500.00	\$13,000.00
304.301	CRUSHED GRAVEL	CY	24.00	\$63.00	\$1,512.00	\$50.00	\$1,200.00	\$120.00	\$2,880.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	1,800.00	\$29.20	\$52,560.00	\$22.00	\$39,600.00	\$33.45	\$60,210.00
403.11042	HBP-1/2" SURFACE MIX, MACHINE METHOD, QC/QA TIER 2	TON	4,300.00	\$90.00	\$387,000.00	\$85.00	\$365,500.00	\$83.46	\$358,878.00
403.11942	HBP-1/2" SURFACE MIX, MACHINE METOD, HIGH STRENGTH, QC/QA TIER 2	TON	6,600.00	\$85.00	\$561,000.00	\$95.00	\$627,000.00	\$92.22	\$608,652.00
403.11952	HBP-3/8" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH, QC/QA TIER 2	TON	320.00	\$90.00	\$28,800.00	\$98.00	\$31,360.00	\$159.36	\$50,995.20
403.12	HBP-HAND METHOD	TON	523.00	\$155.00	\$81,065.00	\$125.00	\$65,375.00	\$268.25	\$140,294.75
403.16	PAVEMENT JOINT ADHESIVE	LF	24,500.00	\$0.26	\$6,370.00	\$0.25	\$6,125.00	\$0.55	\$13,475.00
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	13,600.00	\$2.05	\$27,880.00	\$3.00	\$40,800.00	\$5.50	\$74,800.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	10,600.00	\$4.40	\$46,640.00	\$5.00	\$53,000.00	\$4.50	\$47,700.00
410.752	EMULSIFIED ASPHALT FOG SEAL	GAL	20,700.00	\$4.25	\$87,975.00	\$4.00	\$82,800.00	\$4.00	\$82,800.00
410.753	COVER AGGREGATE	TON	22.00	\$1,730.00	\$38,060.00	\$1,300.00	\$28,600.00	\$1,500.00	\$33,000.00
413.6	CRACK FILL PRIOR TO THIN LIFT OVERLAY	LB	2,900.00	\$2.17	\$6,293.00	\$3.25	\$9,425.00	\$3.25	\$9,425.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	110,200.00	\$2.50	\$275,500.00	\$2.00	\$220,400.00	\$2.17	\$239,134.00
417.118	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 0.5" DEEP	LF	2,400.00	\$6.80	\$16,320.00	\$10.00	\$24,000.00	\$1.50	\$3,600.00
417.21	MICRO-MILLING BITUMINOUS SURFACES	SY	21,900.00	\$1.70	\$37,230.00	\$1.25	\$27,375.00	\$1.26	\$27,594.00
417.412	RUMBLE STRIPS, 12" WIDE	LF	20,300.00	\$0.50	\$10,150.00	\$0.60	\$12,180.00	\$0.20	\$4,060.00
417.4122	RUMBLE STRIPS, 12" WIDE (SINUSOIDAL)	LF	5,200.00	\$1.20	\$6,240.00	\$0.60	\$3,120.00	\$0.50	\$2,600.00
417.53	REMOVE AND INLAY EXISTING RUMBLE STRIPS	LF	15,200.00	\$1.80	\$27,360.00	\$2.50	\$38,000.00	\$2.10	\$31,920.00
419.13	BONDED WEARING COURSE, TYPE C	TON	2,600.00	\$135.00	\$351,000.00	\$125.00	\$325,000.00	\$137.65	\$357,890.00
419.3	POLYMER MODIFIED EMULSION FOR BWC	GAL	14,800.00	\$3.67	\$54,316.00	\$3.60	\$53,280.00	\$2.98	\$44,104.00
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	238.00	\$110.00	\$26,180.00	\$115.00	\$27,370.00	\$115.00	\$27,370.00



					PS&E	1 CONTIN	TAL PAVING INC IENTAL DRIVE ERRY, NH 03053	PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD BELMONT, NH 03220	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
559.412	REPAIR ASPHALTIC PLUG EXPANSION JOINT (F)	LF	282.00	\$134.00	\$37,788.00	\$140.00	\$39,480.00	\$145.00	\$40,890.00
604.0007	POLYETHYLENE LINER	EA	52.00	\$134.00	\$6,968.00	\$135.00	\$7,020.00	\$150.00	\$7,800.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	52.00	\$483.00	\$25,116.00	\$500.00	\$26,000.00	\$485.00	\$25,220.00
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	6.00	\$472.00	\$2,832.00	\$500.00	\$3,000.00	\$500.00	\$3,000.00
606.0001	STEEL BEAM FOR BEAM GUARDRAIL, INCLUDING HARDWARE	LF	275.00	\$14.00	\$3,850.00	\$25.00	\$6,875.00	\$20.00	\$5,500.00
606.012	W6X9 STEEL POST REPLACEMENTS FOR BEAM GUARDRAIL POSTS	EA	10.00	\$89.00	\$890.00	\$180.00	\$1,800.00	\$180.00	\$1,800.00
606.0122	W6X9 STEEL POST ASSEMBLIES FOR BEAM GUARDRAIL POSTS	EA	10.00	\$17.00	\$170.00	\$30.00	\$300.00	\$30.00	\$300.0
606.0142	6"X8" WOOD POST ASSEMBLIES FOR BEAM GUARDRAIL POSTS	EA	22.00	\$32.50	\$715.00	\$150.00	\$3,300.00	\$140.00	\$3,080.0
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	35.00	\$3,500.00	\$122,500.00	\$4,100.00	\$143,500.00	\$4,100.00	\$143,500.0
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	2,200.00	\$24.00	\$52,800.00	\$40.00	\$88,000.00	\$34.50	\$75,900.0
606.34201	SINGLE FACED ASYMMETRICAL TRANSITION RAIL, LEFT (STEEL POST)	U	4.00	\$1,100.00	\$4,400.00	\$1,800.00	\$7,200.00	\$1,400.00	\$5,600.0
606.34202	SINGLE FACED ASYMMETRICAL TRANSITION RAIL, RIGHT (STEEL POST)	U	1.00	\$1,100.00	\$1,100.00	\$1,800.00	\$1,800.00	\$1,400.00	\$1,400.0
606.915	RESETTING GUARDRAIL, BLOCK AND RAIL ONLY	LF	325.00	\$15.25	\$4,956.25	\$40.00	\$13,000.00	\$10.00	\$3,250.0
608.2401	4" CONCRETE SIDEWALK	SY	43.00	\$85.00	\$3,655.00	\$150.00	\$6,450.00	\$100.00	\$4,300.0
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	10.00	\$450.00	\$4,500.00	\$500.00	\$5,000.00	\$500.00	\$5,000.0
609.01	STRAIGHT GRANITE CURB	LF	11.00	\$70.00	\$770.00	\$100.00	\$1,100.00	\$50.00	\$550.0
609.21	STRAIGHT GRANITE SLOPE CURB	LF	130.00	\$22.00	\$2,860.00	\$50.00	\$6,500.00	\$35.00	\$4,550.0
609.5	RESET GRANITE CURB	LF	696.00	\$19.00	\$13,224.00	\$20.00	\$13,920.00	\$40.00	\$27,840.0
609.811	BITUMINOUS CURB, TYPE B (4" REVEAL)	LF	940.00	\$11.00	\$10,340.00	\$10.00	\$9,400.00	\$15.00	\$14,100.0
615.013	REMOVING TRAFFIC SIGN TYPE A	U	6.00	\$1,300.00	\$7,800.00	\$1,000.00	\$6,000.00	\$950.00	\$5,700.0
615.02201	TRAFFIC SIGN TYPE B, BREAKAWAY MOUNTS	SF	30.00	\$134.70	\$4,041.00	\$350.00	\$10,500.00	\$325.00	\$9,750.0
615.023	REMOVING TRAFFIC SIGN TYPE B	U	1.00	\$178.31	\$178.31	\$1,000.00	\$1,000.00	\$560.00	\$560.0
615.0301	TRAFFIC SIGN TYPE C	SF	41.50	\$50.30	\$2,087.45	\$75.00	\$3,112.50	\$61.50	\$2,552.2
615.033	REMOVING TRAFFIC SIGN, TYPE C	U	6.00	\$52.80	\$316.80	\$250.00	\$1,500.00	\$155.00	\$930.0
615.0401	TRAFFIC SIGN TYPE AA	SF	956.00	\$26.70	\$25,525.20	\$35.00	\$33,460.00	\$30.00	\$28,680.0



					PS&E	1 CONTIN	TAL PAVING INC NENTAL DRIVE ERRY, NH 03053	3 EASTGA	USTRIES, INC. ITE PARK ROAD NT, NH 03220
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
615.043	REMOVING TRAFFIC SIGN TYPE AA	U	10.00	\$507.20	\$5,072.00	\$1,200.00	\$12,000.00	\$1,125.00	\$11,250.00
615.0501	TRAFFIC SIGN TYPE BB	SF	474.67	\$25.67	\$12,184.78	\$25.00	\$11,866.75	\$23.00	\$10,917.41
615.053	REMOVING TRAFFIC SIGN TYPE BB	U	13.00	\$35.60	\$462.80	\$1,000.00	\$13,000.00	\$110.00	\$1,430.00
615.0601	TRAFFIC SIGN TYPE CC	SF	22.00	\$19.00	\$418.00	\$20.00	\$440.00	\$20.00	\$440.00
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	2.00	\$1,165.00	\$2,330.00	\$1,500.00	\$3,000.00	\$1,200.00	\$2,400.00
616.95	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$7,700.00	\$7,700.00	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	125,000.00	\$1.00	\$125,000.00	\$1.00	\$125,000.00	\$1.00	\$125,000.00
618.7	FLAGGERS	HR	540.00	\$40.00	\$21,600.00	\$45.00	\$24,300.00	\$48.00	\$25,920.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$250,000.00	\$250,000.00	\$150,000.00	\$150,000.00	\$158,000.00	\$158,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$3,340.00	\$13,360.00	\$2,500.00	\$10,000.00	\$3,500.00	\$14,000.00
619.27	TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$2,650.00	\$5,300.00	\$2,500.00	\$5,000.00	\$2,000.00	\$4,000.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$3,230.00	\$6,460.00	\$5,000.00	\$10,000.00	\$3,000.00	\$6,000.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	1.00	\$9,000.00	\$9,000.00	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	70.00	\$5.50	\$385.00	\$6.00	\$420.00	\$6.00	\$420.00
621.31	SINGLE DELINEATOR WITH POST	EA	119.00	\$55.00	\$6,545.00	\$55.00	\$6,545.00	\$69.00	\$8,211.00
621.32	DOUBLE DELINEATOR WITH POST	EA	19.00	\$60.00	\$1,140.00	\$60.00	\$1,140.00	\$79.00	\$1,501.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	150.00	\$4.60	\$690.00	\$5.00	\$750.00	\$5.00	\$750.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	92,888.00	\$0.24	\$22,293.12	\$0.30	\$27,866.40	\$0.14	\$13,004.32
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	263,485.00	\$0.18	\$47,427.30	\$0.35	\$92,219.75	\$0.18	\$47,427.30
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	5,394.00	\$1.50	\$8,091.00	\$1.00	\$5,394.00	\$1.00	\$5,394.00
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	235.00	\$4.60	\$1,081.00	\$4.00	\$940.00	\$4.00	\$940.00
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	123.00	\$3.00	\$369.00	\$2.00	\$246.00	\$2.00	\$246.00
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	1,437.00	\$1.60	\$2,299.20	\$3.00	\$4,311.00	\$1.35	\$1,939.95
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	6,775.00	\$3.30	\$22,357.50	\$6.00	\$40,650.00	\$2.50	\$16,937.50
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	235.00	\$6.85	\$1,609.75	\$9.00	\$2,115.00	\$6.00	\$1,410.00
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	340.00	\$10.00	\$3,400.00	\$12.00	\$4,080.00	\$30.00	\$10,200.00



				PS&E		1 CONTIN	TAL PAVING INC NENTAL DRIVE ERRY, NH 03053	PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD BELMONT, NH 03220	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	40,469.00	\$0.58	\$23,472.02	\$0.50	\$20,234.50	\$0.85	\$34,398.65
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	1,200.00	\$5.16	\$6,192.00	\$10.00	\$12,000.00	\$6.00	\$7,200.00
645.531	SILT FENCE	LF	1,200.00	\$3.14	\$3,768.00	\$6.00	\$7,200.00	\$5.00	\$6,000.00
645.611	BONDED FIBER MATRIX (BFM)	LB	1,800.00	\$1.40	\$2,520.00	\$4.00	\$7,200.00	\$1.50	\$2,700.00
646.21	TURF ESTABLISHMENT WITHOUT MULCH	SY	2,500.00	\$1.30	\$3,250.00	\$3.00	\$7,500.00	\$1.50	\$3,750.00
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	12.00	\$47.00	\$564.00	\$100.00	\$1,200.00	\$25.00	\$300.00
692.	MOBILIZATION	U	1.00	\$210,000.00	\$210,000.00	\$225,000.00	\$225,000.00	\$250,000.00	\$250,000.00
698.12	FIELD OFFICE TYPE B	MON	9.00	\$1,700.00	\$15,300.00	\$3,000.00	\$27,000.00	\$2,100.00	\$18,900.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00
1010.21	ASPHALT CEMENT ADJUSTMENT FOR EMULSION	\$	3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	31,068.00	\$1.00	\$31,068.00	\$1.00	\$31,068.00	\$1.00	\$31,068.00
	Totals:				\$3,495,863.48		\$3,593,613.90		\$3,633,689.33
	Alt. Totals:								
			Totals:		\$3,495,863.48		\$3,593,613.90	\$3,633,689.33	



HILLSBOROUGH 43059 X-A005(028)

				ı	PS&E	216 MOUNT HER	ANTIC COAST LLC MON STATION ROAD ELD, MA 01360	288 LAC	PHALT LLC ONIA ROAD IT, NH 03220
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

i		1	1	1	1				1
202.7	REMOVAL OF GUARDRAIL	LF	5,500.00	\$3.20	\$17,600.00	\$2.35	\$12,925.00	\$2.10	\$11,550.00
203.5561	EAGRT PLATFORM PREFERRED	U	35.00	\$1,440.00	\$50,400.00	\$1,250.00	\$43,750.00	\$1,500.00	\$52,500.00
206.1	COMMON STRUCTURE EXCAVATION	CY	26.00	\$320.00	\$8,320.00	\$64.65	\$1,680.90	\$100.00	\$2,600.00
304.301	CRUSHED GRAVEL	CY	24.00	\$63.00	\$1,512.00	\$95.95	\$2,302.80	\$100.00	\$2,400.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	1,800.00	\$29.20	\$52,560.00	\$45.00	\$81,000.00	\$30.00	\$54,000.00
403.11042	HBP-1/2" SURFACE MIX, MACHINE METHOD, QC/QA TIER 2	TON	4,300.00	\$90.00	\$387,000.00	\$90.00	\$387,000.00	\$79.00	\$339,700.00
403.11942	HBP-1/2" SURFACE MIX, MACHINE METOD, HIGH STRENGTH, QC/QA TIER 2	TON	6,600.00	\$85.00	\$561,000.00	\$100.00	\$660,000.00	\$86.00	\$567,600.00
403.11952	HBP-3/8" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH, QC/QA TIER 2	TON	320.00	\$90.00	\$28,800.00	\$200.00	\$64,000.00	\$86.00	\$27,520.00
403.12	HBP-HAND METHOD	TON	523.00	\$155.00	\$81,065.00	\$225.00	\$117,675.00	\$180.00	\$94,140.00
403.16	PAVEMENT JOINT ADHESIVE	LF	24,500.00	\$0.26	\$6,370.00	\$0.25	\$6,125.00	\$0.27	\$6,615.00
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	13,600.00	\$2.05	\$27,880.00	\$4.50	\$61,200.00	\$4.50	\$61,200.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	10,600.00	\$4.40	\$46,640.00	\$5.50	\$58,300.00	\$4.00	\$42,400.00
410.752	EMULSIFIED ASPHALT FOG SEAL	GAL	20,700.00	\$4.25	\$87,975.00	\$4.60	\$95,220.00	\$4.70	\$97,290.00
410.753	COVER AGGREGATE	TON	22.00	\$1,730.00	\$38,060.00	\$1,600.00	\$35,200.00	\$1,700.00	\$37,400.00
413.6	CRACK FILL PRIOR TO THIN LIFT OVERLAY	LB	2,900.00	\$2.17	\$6,293.00	\$3.50	\$10,150.00	\$3.45	\$10,005.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	110,200.00	\$2.50	\$275,500.00	\$3.00	\$330,600.00	\$2.70	\$297,540.00
417.118	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 0.5" DEEP	LF	2,400.00	\$6.80	\$16,320.00	\$4.50	\$10,800.00	\$4.95	\$11,880.00
417.21	MICRO-MILLING BITUMINOUS SURFACES	SY	21,900.00	\$1.70	\$37,230.00	\$1.75	\$38,325.00	\$2.70	\$59,130.00
417.412	RUMBLE STRIPS, 12" WIDE	LF	20,300.00	\$0.50	\$10,150.00	\$0.75	\$15,225.00	\$0.80	\$16,240.00
417.4122	RUMBLE STRIPS, 12" WIDE (SINUSOIDAL)	LF	5,200.00	\$1.20	\$6,240.00	\$1.00	\$5,200.00	\$1.55	\$8,060.00
417.53	REMOVE AND INLAY EXISTING RUMBLE STRIPS	LF	15,200.00	\$1.80	\$27,360.00	\$6.00	\$91,200.00	\$2.35	\$35,720.00
419.13	BONDED WEARING COURSE, TYPE C	TON	2,600.00	\$135.00	\$351,000.00	\$65.50	\$170,300.00	\$125.00	\$325,000.00
419.3	POLYMER MODIFIED EMULSION FOR BWC	GAL	14,800.00	\$3.67	\$54,316.00	\$3.00	\$44,400.00	\$2.90	\$42,920.00
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	238.00	\$110.00	\$26,180.00	\$130.00	\$30,940.00	\$135.00	\$32,130.00



					PS&E	216 MOUNT HER	ANTIC COAST LLC MON STATION ROAD ELD, MA 01360	GMI ASPHALT LLC 288 LACONIA ROAD BELMONT, NH 03220	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
559.412	REPAIR ASPHALTIC PLUG EXPANSION JOINT (F)	LF	282.00	\$134.00	\$37,788.00	\$156.00	\$43,992.00	\$138.00	\$38,916.00
604.0007	POLYETHYLENE LINER	EA	52.00	\$134.00	\$6,968.00	\$149.00	\$7,748.00	\$140.00	\$7,280.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	52.00	\$483.00	\$25,116.00	\$815.00	\$42,380.00	\$635.00	\$33,020.00
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	6.00	\$472.00	\$2,832.00	\$870.00	\$5,220.00	\$635.00	\$3,810.00
606.0001	STEEL BEAM FOR BEAM GUARDRAIL, INCLUDING HARDWARE	LF	275.00	\$14.00	\$3,850.00	\$23.75	\$6,531.25	\$22.50	\$6,187.50
606.012	W6X9 STEEL POST REPLACEMENTS FOR BEAM GUARDRAIL POSTS	EA	10.00	\$89.00	\$890.00	\$155.00	\$1,550.00	\$138.00	\$1,380.00
606.0122	W6X9 STEEL POST ASSEMBLIES FOR BEAM GUARDRAIL POSTS	EA	10.00	\$17.00	\$170.00	\$36.00	\$360.00	\$28.90	\$289.00
606.0142	6"X8" WOOD POST ASSEMBLIES FOR BEAM GUARDRAIL POSTS	EA	22.00	\$32.50	\$715.00	\$77.00	\$1,694.00	\$150.00	\$3,300.0
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	35.00	\$3,500.00	\$122,500.00	\$5,000.00	\$175,000.00	\$4,695.00	\$164,325.0
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	2,200.00	\$24.00	\$52,800.00	\$46.75	\$102,850.00	\$34.55	\$76,010.0
606.34201	SINGLE FACED ASYMMETRICAL TRANSITION RAIL, LEFT (STEEL POST)	U	4.00	\$1,100.00	\$4,400.00	\$2,300.00	\$9,200.00	\$1,500.00	\$6,000.0
606.34202	SINGLE FACED ASYMMETRICAL TRANSITION RAIL, RIGHT (STEEL POST)	U	1.00	\$1,100.00	\$1,100.00	\$2,300.00	\$2,300.00	\$1,500.00	\$1,500.0
606.915	RESETTING GUARDRAIL, BLOCK AND RAIL ONLY	LF	325.00	\$15.25	\$4,956.25	\$45.00	\$14,625.00	\$11.60	\$3,770.0
608.2401	4" CONCRETE SIDEWALK	SY	43.00	\$85.00	\$3,655.00	\$315.00	\$13,545.00	\$122.00	\$5,246.0
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	10.00	\$450.00	\$4,500.00	\$135.00	\$1,350.00	\$460.00	\$4,600.0
609.01	STRAIGHT GRANITE CURB	LF	11.00	\$70.00	\$770.00	\$92.00	\$1,012.00	\$75.00	\$825.0
609.21	STRAIGHT GRANITE SLOPE CURB	LF	130.00	\$22.00	\$2,860.00	\$76.00	\$9,880.00	\$30.00	\$3,900.0
609.5	RESET GRANITE CURB	LF	696.00	\$19.00	\$13,224.00	\$64.00	\$44,544.00	\$13.20	\$9,187.2
609.811	BITUMINOUS CURB, TYPE B (4" REVEAL)	LF	940.00	\$11.00	\$10,340.00	\$8.95	\$8,413.00	\$12.00	\$11,280.0
615.013	REMOVING TRAFFIC SIGN TYPE A	U	6.00	\$1,300.00	\$7,800.00	\$800.00	\$4,800.00	\$432.00	\$2,592.0
615.02201	TRAFFIC SIGN TYPE B, BREAKAWAY MOUNTS	SF	30.00	\$134.70	\$4,041.00	\$140.00	\$4,200.00	\$150.00	\$4,500.00
615.023	REMOVING TRAFFIC SIGN TYPE B	U	1.00	\$178.31	\$178.31	\$36.00	\$36.00	\$38.00	\$38.00
615.0301	TRAFFIC SIGN TYPE C	SF	41.50	\$50.30	\$2,087.45	\$46.00	\$1,909.00	\$45.00	\$1,867.5
615.033	REMOVING TRAFFIC SIGN, TYPE C	U	6.00	\$52.80	\$316.80	\$36.00	\$216.00	\$34.60	\$207.6
615.0401	TRAFFIC SIGN TYPE AA	SF	956.00	\$26.70	\$25,525.20	\$38.00	\$36,328.00	\$36.40	\$34,798.4



HILLSBOROUGH 43059 X-A005(028)

					PS&E	216 MOUNT HER	ANTIC COAST LLC MON STATION ROAD ELD, MA 01360	GMI ASPHALT LLC 288 LACONIA ROAD BELMONT, NH 03220	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
615.043	REMOVING TRAFFIC SIGN TYPE AA	U	10.00	\$507.20	\$5,072.00	\$175.00	\$1,750.00	\$173.00	\$1,730.00
615.0501	TRAFFIC SIGN TYPE BB	SF	474.67	\$25.67	\$12,184.78	\$25.90	\$12,293.95	\$25.35	\$12,032.88
615.053	REMOVING TRAFFIC SIGN TYPE BB	U	13.00	\$35.60	\$462.80	\$36.00	\$468.00	\$34.60	\$449.80
615.0601	TRAFFIC SIGN TYPE CC	SF	22.00	\$19.00	\$418.00	\$17.75	\$390.50	\$17.30	\$380.60
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	2.00	\$1,165.00	\$2,330.00	\$1,420.00	\$2,840.00	\$1,845.00	\$3,690.00
616.95	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$7,700.00	\$7,700.00	\$4,820.00	\$4,820.00	\$5,185.00	\$5,185.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	125,000.00	\$1.00	\$125,000.00	\$1.00	\$125,000.00	\$1.00	\$125,000.00
618.7	FLAGGERS	HR	540.00	\$40.00	\$21,600.00	\$42.00	\$22,680.00	\$37.00	\$19,980.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$250,000.00	\$250,000.00	\$155,000.00	\$155,000.00	\$352,000.00	\$352,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$3,340.00	\$13,360.00	\$3,200.00	\$12,800.00	\$4,150.00	\$16,600.00
619.27	TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$2,650.00	\$5,300.00	\$2,200.00	\$4,400.00	\$3,670.00	\$7,340.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$3,230.00	\$6,460.00	\$2,600.00	\$5,200.00	\$4,725.00	\$9,450.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	1.00	\$9,000.00	\$9,000.00	\$12,400.00	\$12,400.00	\$28,000.00	\$28,000.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	70.00	\$5.50	\$385.00	\$9.00	\$630.00	\$6.95	\$486.50
621.31	SINGLE DELINEATOR WITH POST	EA	119.00	\$55.00	\$6,545.00	\$65.00	\$7,735.00	\$76.00	\$9,044.00
621.32	DOUBLE DELINEATOR WITH POST	EA	19.00	\$60.00	\$1,140.00	\$71.00	\$1,349.00	\$85.00	\$1,615.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	150.00	\$4.60	\$690.00	\$19.00	\$2,850.00	\$3.00	\$450.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	92,888.00	\$0.24	\$22,293.12	\$0.25	\$23,222.00	\$0.25	\$23,222.00
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	263,485.00	\$0.18	\$47,427.30	\$0.30	\$79,045.50	\$0.29	\$76,410.65
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	5,394.00	\$1.50	\$8,091.00	\$2.25	\$12,136.50	\$2.30	\$12,406.20
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	235.00	\$4.60	\$1,081.00	\$6.00	\$1,410.00	\$9.20	\$2,162.00
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4"	LF	123.00	\$3.00	\$369.00	\$2.25	\$276.75	\$2.30	\$282.90
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	1,437.00	\$1.60	\$2,299.20	\$3.50	\$5,029.50	\$3.45	\$4,957.65
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	6,775.00	\$3.30	\$22,357.50	\$4.75	\$32,181.25	\$4.60	\$31,165.00
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	235.00	\$6.85	\$1,609.75	\$9.55	\$2,244.25	\$10.35	\$2,432.25
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	340.00	\$10.00	\$3,400.00	\$11.75	\$3,995.00	\$11.55	\$3,927.00

Wednesday, October 6, 2021



					PS&E		ANTIC COAST LLC IMON STATION ROAD ELD, MA 01360	GMI ASPHALT LLC 288 LACONIA ROAD BELMONT, NH 03220	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	40,469.00	\$0.58	\$23,472.02	\$0.55	\$22,257.95	\$0.75	\$30,351.75
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	1,200.00	\$5.16	\$6,192.00	\$7.00	\$8,400.00	\$9.00	\$10,800.00
645.531	SILT FENCE	LF	1,200.00	\$3.14	\$3,768.00	\$7.75	\$9,300.00	\$2.85	\$3,420.00
645.611	BONDED FIBER MATRIX (BFM)	LB	1,800.00	\$1.40	\$2,520.00	\$1.20	\$2,160.00	\$2.30	\$4,140.00
646.21	TURF ESTABLISHMENT WITHOUT MULCH	SY	2,500.00	\$1.30	\$3,250.00	\$3.25	\$8,125.00	\$4.50	\$11,250.00
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	12.00	\$47.00	\$564.00	\$185.00	\$2,220.00	\$70.00	\$840.00
692.	MOBILIZATION	U	1.00	\$210,000.00	\$210,000.00	\$155,000.00	\$155,000.00	\$325,000.00	\$325,000.00
698.12	FIELD OFFICE TYPE B	MON	9.00	\$1,700.00	\$15,300.00	\$2,600.00	\$23,400.00	\$2,800.00	\$25,200.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00
1010.21	ASPHALT CEMENT ADJUSTMENT FOR EMULSION	\$	3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	31,068.00	\$1.00	\$31,068.00	\$1.00	\$31,068.00	\$1.00	\$31,068.00
			Totals:		\$3,495,863.48		\$3,785,280.10		\$3,930,838.38
	Alt. Totals:								
			Totals:		\$3,495,863.48		\$3,785,280.10	0 \$3,930,838.38	



HILLSBOROUGH 43059 X-A005(028)

				PS&E		1471 METI	USTRIES, INC. HUEN STREET T, MA 01826		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

			1			Ī		
202.7	REMOVAL OF GUARDRAIL	LF	5,500.00	\$3.20	\$17,600.00	\$4.00	\$22,000.00	
203.5561	EAGRT PLATFORM PREFERRED	U	35.00	\$1,440.00	\$50,400.00	\$1,800.00	\$63,000.00	
206.1	COMMON STRUCTURE EXCAVATION	CY	26.00	\$320.00	\$8,320.00	\$1,200.00	\$31,200.00	
304.301	CRUSHED GRAVEL	CY	24.00	\$63.00	\$1,512.00	\$150.00	\$3,600.00	
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	1,800.00	\$29.20	\$52,560.00	\$42.00	\$75,600.00	
403.11042	HBP-1/2" SURFACE MIX, MACHINE METHOD, QC/QA TIER 2	TON	4,300.00	\$90.00	\$387,000.00	\$88.00	\$378,400.00	
403.11942	HBP-1/2" SURFACE MIX, MACHINE METOD, HIGH STRENGTH, QC/QA TIER 2	TON	6,600.00	\$85.00	\$561,000.00	\$94.00	\$620,400.00	
403.11952	HBP-3/8" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH, QC/QA TIER 2	TON	320.00	\$90.00	\$28,800.00	\$210.00	\$67,200.00	
403.12	HBP-HAND METHOD	TON	523.00	\$155.00	\$81,065.00	\$150.00	\$78,450.00	
403.16	PAVEMENT JOINT ADHESIVE	LF	24,500.00	\$0.26	\$6,370.00	\$0.75	\$18,375.00	
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	13,600.00	\$2.05	\$27,880.00	\$4.00	\$54,400.00	
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	10,600.00	\$4.40	\$46,640.00	\$5.00	\$53,000.00	
410.752	EMULSIFIED ASPHALT FOG SEAL	GAL	20,700.00	\$4.25	\$87,975.00	\$4.00	\$82,800.00	
410.753	COVER AGGREGATE	TON	22.00	\$1,730.00	\$38,060.00	\$1,400.00	\$30,800.00	
413.6	CRACK FILL PRIOR TO THIN LIFT OVERLAY	LB	2,900.00	\$2.17	\$6,293.00	\$3.25	\$9,425.00	
417.	COLD PLANING BITUMINOUS SURFACES	SY	110,200.00	\$2.50	\$275,500.00	\$3.00	\$330,600.00	
417.118	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 0.5" DEEP	LF	2,400.00	\$6.80	\$16,320.00	\$3.00	\$7,200.00	
417.21	MICRO-MILLING BITUMINOUS SURFACES	SY	21,900.00	\$1.70	\$37,230.00	\$2.15	\$47,085.00	
417.412	RUMBLE STRIPS, 12" WIDE	LF	20,300.00	\$0.50	\$10,150.00	\$0.60	\$12,180.00	
417.4122	RUMBLE STRIPS, 12" WIDE (SINUSOIDAL)	LF	5,200.00	\$1.20	\$6,240.00	\$1.70	\$8,840.00	
417.53	REMOVE AND INLAY EXISTING RUMBLE STRIPS	LF	15,200.00	\$1.80	\$27,360.00	\$2.25	\$34,200.00	
419.13	BONDED WEARING COURSE, TYPE C	TON	2,600.00	\$135.00	\$351,000.00	\$115.00	\$299,000.00	
419.3	POLYMER MODIFIED EMULSION FOR BWC	GAL	14,800.00	\$3.67	\$54,316.00	\$2.70	\$39,960.00	
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	238.00	\$110.00	\$26,180.00	\$110.00	\$26,180.00	

Wednesday, October 6, 2021



					P\$&E	1471 MET	DUSTRIES, INC. HUEN STREET IT, MA 01826		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
559.412	REPAIR ASPHALTIC PLUG EXPANSION JOINT (F)	LF	282.00	\$134.00	\$37,788.00	\$132.00	\$37,224.00		
604.0007	POLYETHYLENE LINER	EA	52.00	\$134.00	\$6,968.00	\$150.00	\$7,800.00		
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	52.00	\$483.00	\$25,116.00	\$425.00	\$22,100.00		
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	6.00	\$472.00	\$2,832.00	\$325.00	\$1,950.00		
606.0001	STEEL BEAM FOR BEAM GUARDRAIL, INCLUDING HARDWARE	LF	275.00	\$14.00	\$3,850.00	\$30.80	\$8,470.00		
606.012	W6X9 STEEL POST REPLACEMENTS FOR BEAM GUARDRAIL POSTS	EA	10.00	\$89.00	\$890.00	\$133.95	\$1,339.50		
606.0122	W6X9 STEEL POST ASSEMBLIES FOR BEAM GUARDRAIL POSTS	EA	10.00	\$17.00	\$170.00	\$23.85	\$238.50		
606.0142	6"X8" WOOD POST ASSEMBLIES FOR BEAM GUARDRAIL POSTS	EA	22.00	\$32.50	\$715.00	\$23.85	\$524.70		
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	35.00	\$3,500.00	\$122,500.00	\$5,090.00	\$178,150.00		
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	2,200.00	\$24.00	\$52,800.00	\$37.35	\$82,170.00		
606.34201	SINGLE FACED ASYMMETRICAL TRANSITION RAIL, LEFT (STEEL POST)	U	4.00	\$1,100.00	\$4,400.00	\$1,420.00	\$5,680.00		
606.34202	SINGLE FACED ASYMMETRICAL TRANSITION RAIL, RIGHT (STEEL POST)	U	1.00	\$1,100.00	\$1,100.00	\$1,420.00	\$1,420.00		
606.915	RESETTING GUARDRAIL, BLOCK AND RAIL ONLY	LF	325.00	\$15.25	\$4,956.25	\$11.25	\$3,656.25		
608.2401	4" CONCRETE SIDEWALK	SY	43.00	\$85.00	\$3,655.00	\$160.00	\$6,880.00		
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	10.00	\$450.00	\$4,500.00	\$600.00	\$6,000.00		
609.01	STRAIGHT GRANITE CURB	LF	11.00	\$70.00	\$770.00	\$45.00	\$495.00		
609.21	STRAIGHT GRANITE SLOPE CURB	LF	130.00	\$22.00	\$2,860.00	\$45.00	\$5,850.00		
609.5	RESET GRANITE CURB	LF	696.00	\$19.00	\$13,224.00	\$25.00	\$17,400.00		
609.811	BITUMINOUS CURB, TYPE B (4" REVEAL)	LF	940.00	\$11.00	\$10,340.00	\$12.00	\$11,280.00		
615.013	REMOVING TRAFFIC SIGN TYPE A	U	6.00	\$1,300.00	\$7,800.00	\$800.00	\$4,800.00		
615.02201	TRAFFIC SIGN TYPE B, BREAKAWAY MOUNTS	SF	30.00	\$134.70	\$4,041.00	\$135.00	\$4,050.00		
615.023	REMOVING TRAFFIC SIGN TYPE B	U	1.00	\$178.31	\$178.31	\$32.00	\$32.00		
615.0301	TRAFFIC SIGN TYPE C	SF	41.50	\$50.30	\$2,087.45	\$40.00	\$1,660.00		
615.033	REMOVING TRAFFIC SIGN, TYPE C	U	6.00	\$52.80	\$316.80	\$32.00	\$192.00		
615.0401	TRAFFIC SIGN TYPE AA	SF	956.00	\$26.70	\$25,525.20	\$34.00	\$32,504.00		



					PS&E	1471 MET	DUSTRIES, INC. HUEN STREET IT, MA 01826		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
615.043	REMOVING TRAFFIC SIGN TYPE AA	U	10.00	\$507.20	\$5,072.00	\$160.00	\$1,600.00		
615.0501	TRAFFIC SIGN TYPE BB	SF	474.67	\$25.67	\$12,184.78	\$24.00	\$11,392.08		
615.053	REMOVING TRAFFIC SIGN TYPE BB	U	13.00	\$35.60	\$462.80	\$33.00	\$429.00		
615.0601	TRAFFIC SIGN TYPE CC	SF	22.00	\$19.00	\$418.00	\$16.00	\$352.00		
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	2.00	\$1,165.00	\$2,330.00	\$3,500.00	\$7,000.00		
616.95	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$7,700.00	\$7,700.00	\$3,000.00	\$3,000.00		
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	125,000.00	\$1.00	\$125,000.00	\$1.00	\$125,000.00		
618.7	FLAGGERS	HR	540.00	\$40.00	\$21,600.00	\$55.00	\$29,700.00		
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00		
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$3,340.00	\$13,360.00	\$5,000.00	\$20,000.00		
619.27	TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$2,650.00	\$5,300.00	\$3,500.00	\$7,000.00		
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$3,230.00	\$6,460.00	\$4,500.00	\$9,000.00		
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	1.00	\$9,000.00	\$9,000.00	\$30,000.00	\$30,000.00		
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	70.00	\$5.50	\$385.00	\$6.00	\$420.00		
621.31	SINGLE DELINEATOR WITH POST	EA	119.00	\$55.00	\$6,545.00	\$60.00	\$7,140.00		
621.32	DOUBLE DELINEATOR WITH POST	EA	19.00	\$60.00	\$1,140.00	\$70.00	\$1,330.00		
628.2	SAWED BITUMINOUS PAVEMENT	LF	150.00	\$4.60	\$690.00	\$10.00	\$1,500.00		
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	92,888.00	\$0.24	\$22,293.12	\$0.30	\$27,866.40		
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	263,485.00	\$0.18	\$47,427.30	\$0.35	\$92,219.75		
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	5,394.00	\$1.50	\$8,091.00	\$1.00	\$5,394.00		
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	235.00	\$4.60	\$1,081.00	\$5.00	\$1,175.00		
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	123.00	\$3.00	\$369.00	\$1.00	\$123.00		1
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	1,437.00	\$1.60	\$2,299.20	\$2.00	\$2,874.00		1
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	6,775.00	\$3.30	\$22,357.50	\$4.00	\$27,100.00		
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	235.00	\$6.85	\$1,609.75	\$6.00	\$1,410.00		
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	340.00	\$10.00	\$3,400.00	\$8.00	\$2,720.00		

New Hampshive Department of Transportation

ABC Bid Data

HILLSBOROUGH 43059 X-A005(028)

				PS&E		1471 MET	DUSTRIES, INC. HUEN STREET IT, MA 01826		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	40,469.00	\$0.58	\$23,472.02	\$0.50	\$20,234.50		
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	1,200.00	\$5.16	\$6,192.00	\$7.00	\$8,400.00		
645.531	SILT FENCE	LF	1,200.00	\$3.14	\$3,768.00	\$5.00	\$6,000.00		
645.611	BONDED FIBER MATRIX (BFM)	LB	1,800.00	\$1.40	\$2,520.00	\$2.00	\$3,600.00		
646.21	TURF ESTABLISHMENT WITHOUT MULCH	SY	2,500.00	\$1.30	\$3,250.00	\$6.00	\$15,000.00		
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	12.00	\$47.00	\$564.00	\$12.00	\$144.00		
692.	MOBILIZATION	U	1.00	\$210,000.00	\$210,000.00	\$300,000.00	\$300,000.00		
698.12	FIELD OFFICE TYPE B	MON	9.00	\$1,700.00	\$15,300.00	\$2,500.00	\$22,500.00		
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00		
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00		
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00		
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00		
1010.21	ASPHALT CEMENT ADJUSTMENT FOR EMULSION	\$	3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00		
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	31,068.00	\$1.00	\$31,068.00	\$1.00	\$31,068.00		
			Totals:		\$3,495,863.48		\$3,986,452.68		
			Alt. Totals:						
			Totals:	\$3,495,863.48			\$3,986,452.68		

Wednesday, October 6, 2021



				A-Bide	der	PS8	ξΕ.	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
202.7	REMOVAL OF GUARDRAIL	LF	5,500.00	\$4.00	\$22,000.00	\$3.20	\$17,600.00	\$4,400.00
203.5561	EAGRT PLATFORM PREFERRED	U	35.00	\$1,800.00	\$63,000.00	\$1,440.00	\$50,400.00	\$12,600.00
206.1	COMMON STRUCTURE EXCAVATION	CY	26.00	\$200.00	\$5,200.00	\$320.00	\$8,320.00	(\$3,120.00)
304.301	CRUSHED GRAVEL	CY	24.00	\$50.00	\$1,200.00	\$63.00	\$1,512.00	(\$312.00)
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	1,800.00	\$22.00	\$39,600.00	\$29.20	\$52,560.00	(\$12,960.00)
403.11042	HBP-1/2" SURFACE MIX, MACHINE METHOD, QC/QA TIER 2	TON	4,300.00	\$85.00	\$365,500.00	\$90.00	\$387,000.00	(\$21,500.00)
403.11942	HBP-1/2" SURFACE MIX, MACHINE METOD, HIGH STRENGTH, QC/QA TIER 2	TON	6,600.00	\$95.00	\$627,000.00	\$85.00	\$561,000.00	\$66,000.00
403.11952	HBP-3/8" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH, QC/QA TIER 2	TON	320.00	\$98.00	\$31,360.00	\$90.00	\$28,800.00	\$2,560.00
403.12	HBP-HAND METHOD	TON	523.00	\$125.00	\$65,375.00	\$155.00	\$81,065.00	(\$15,690.00)
403.16	PAVEMENT JOINT ADHESIVE	LF	24,500.00	\$0.25	\$6,125.00	\$0.26	\$6,370.00	(\$245.00)
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	13,600.00	\$3.00	\$40,800.00	\$2.05	\$27,880.00	\$12,920.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	10,600.00	\$5.00	\$53,000.00	\$4.40	\$46,640.00	\$6,360.00
410.752	EMULSIFIED ASPHALT FOG SEAL	GAL	20,700.00	\$4.00	\$82,800.00	\$4.25	\$87,975.00	(\$5,175.00)
410.753	COVER AGGREGATE	TON	22.00	\$1,300.00	\$28,600.00	\$1,730.00	\$38,060.00	(\$9,460.00)



HILLSBOROUGH 43059 X-A005(028)

	Description			A-Bide	der	PS8	ķΕ	
Item No.		Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
413.6	CRACK FILL PRIOR TO THIN LIFT OVERLAY	LB	2,900.00	\$3.25	\$9,425.00	\$2.17	\$6,293.00	\$3,132.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	110,200.00	\$2.00	\$220,400.00	\$2.50	\$275,500.00	(\$55,100.00)
417.118	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 0.5" DEEP	LF	2,400.00	\$10.00	\$24,000.00	\$6.80	\$16,320.00	\$7,680.00
417.21	MICRO-MILLING BITUMINOUS SURFACES	SY	21,900.00	\$1.25	\$27,375.00	\$1.70	\$37,230.00	(\$9,855.00)
417.412	RUMBLE STRIPS, 12" WIDE	LF	20,300.00	\$0.60	\$12,180.00	\$0.50	\$10,150.00	\$2,030.00
417.4122	RUMBLE STRIPS, 12" WIDE (SINUSOIDAL)	LF	5,200.00	\$0.60	\$3,120.00	\$1.20	\$6,240.00	(\$3,120.00)
417.53	REMOVE AND INLAY EXISTING RUMBLE STRIPS	LF	15,200.00	\$2.50	\$38,000.00	\$1.80	\$27,360.00	\$10,640.00
419.13	BONDED WEARING COURSE, TYPE C	TON	2,600.00	\$125.00	\$325,000.00	\$135.00	\$351,000.00	(\$26,000.00)
419.3	POLYMER MODIFIED EMULSION FOR BWC	GAL	14,800.00	\$3.60	\$53,280.00	\$3.67	\$54,316.00	(\$1,036.00)
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	238.00	\$115.00	\$27,370.00	\$110.00	\$26,180.00	\$1,190.00
559.412	REPAIR ASPHALTIC PLUG EXPANSION JOINT (F)	LF	282.00	\$140.00	\$39,480.00	\$134.00	\$37,788.00	\$1,692.00
604.0007	POLYETHYLENE LINER	EA	52.00	\$135.00	\$7,020.00	\$134.00	\$6,968.00	\$52.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	52.00	\$500.00	\$26,000.00	\$483.00	\$25,116.00	\$884.00
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	6.00	\$500.00	\$3,000.00	\$472.00	\$2,832.00	\$168.00
606.0001	STEEL BEAM FOR BEAM GUARDRAIL, INCLUDING HARDWARE	LF	275.00	\$25.00	\$6,875.00	\$14.00	\$3,850.00	\$3,025.00
606.012	W6X9 STEEL POST REPLACEMENTS FOR BEAM GUARDRAIL POSTS	EA	10.00	\$180.00	\$1,800.00	\$89.00	\$890.00	\$910.00

Wednesday, October 6, 2021 Page 15 of 19



HILLSBOROUGH 43059 X-A005(028)

		ı		A-Bidd	der	PS8	&E	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
606.0122	W6X9 STEEL POST ASSEMBLIES FOR BEAM GUARDRAIL POSTS	EA	10.00	\$30.00	\$300.00	\$17.00	\$170.00	\$130.00
606.0142	6"X8" WOOD POST ASSEMBLIES FOR BEAM GUARDRAIL POSTS	EA	22.00	\$150.00	\$3,300.00	\$32.50	\$715.00	\$2,585.00
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	35.00	\$4,100.00	\$143,500.00	\$3,500.00	\$122,500.00	\$21,000.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	2,200.00	\$40.00	\$88,000.00	\$24.00	\$52,800.00	\$35,200.00
606.34201	SINGLE FACED ASYMMETRICAL TRANSITION RAIL, LEFT (STEEL POST)	U	4.00	\$1,800.00	\$7,200.00	\$1,100.00	\$4,400.00	\$2,800.00
606.34202	SINGLE FACED ASYMMETRICAL TRANSITION RAIL, RIGHT (STEEL POST)	U	1.00	\$1,800.00	\$1,800.00	\$1,100.00	\$1,100.00	\$700.00
606.915	RESETTING GUARDRAIL, BLOCK AND RAIL ONLY	LF	325.00	\$40.00	\$13,000.00	\$15.25	\$4,956.25	\$8,043.75
608.2401	4" CONCRETE SIDEWALK	SY	43.00	\$150.00	\$6,450.00	\$85.00	\$3,655.00	\$2,795.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	10.00	\$500.00	\$5,000.00	\$450.00	\$4,500.00	\$500.00
609.01	STRAIGHT GRANITE CURB	LF	11.00	\$100.00	\$1,100.00	\$70.00	\$770.00	\$330.00
609.21	STRAIGHT GRANITE SLOPE CURB	LF	130.00	\$50.00	\$6,500.00	\$22.00	\$2,860.00	\$3,640.00
609.5	RESET GRANITE CURB	LF	696.00	\$20.00	\$13,920.00	\$19.00	\$13,224.00	\$696.00
609.811	BITUMINOUS CURB, TYPE B (4" REVEAL)	LF	940.00	\$10.00	\$9,400.00	\$11.00	\$10,340.00	(\$940.00)
615.013	REMOVING TRAFFIC SIGN TYPE A	U	6.00	\$1,000.00	\$6,000.00	\$1,300.00	\$7,800.00	(\$1,800.00)
615.02201	TRAFFIC SIGN TYPE B, BREAKAWAY MOUNTS	SF	30.00	\$350.00	\$10,500.00	\$134.70	\$4,041.00	\$6,459.00
615.023	REMOVING TRAFFIC SIGN TYPE B	U	1.00	\$1,000.00	\$1,000.00	\$178.31	\$178.31	\$821.69

Wednesday, October 6, 2021 Page 16 of 19



Department of Transportation

PS&E Comparison

HILLSBOROUGH 43059 X-A005(028)

				A-Bide	der	PS8	λΕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
615.0301	TRAFFIC SIGN TYPE C	SF	41.50	\$75.00	\$3,112.50	\$50.30	\$2,087.45	\$1,025.05
615.033	REMOVING TRAFFIC SIGN, TYPE C	U	6.00	\$250.00	\$1,500.00	\$52.80	\$316.80	\$1,183.20
615.0401	TRAFFIC SIGN TYPE AA	SF	956.00	\$35.00	\$33,460.00	\$26.70	\$25,525.20	\$7,934.80
615.043	REMOVING TRAFFIC SIGN TYPE AA	U	10.00	\$1,200.00	\$12,000.00	\$507.20	\$5,072.00	\$6,928.00
615.0501	TRAFFIC SIGN TYPE BB	SF	474.67	\$25.00	\$11,866.75	\$25.67	\$12,184.78	(\$318.03)
615.053	REMOVING TRAFFIC SIGN TYPE BB	U	13.00	\$1,000.00	\$13,000.00	\$35.60	\$462.80	\$12,537.20
615.0601	TRAFFIC SIGN TYPE CC	SF	22.00	\$20.00	\$440.00	\$19.00	\$418.00	\$22.00
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	2.00	\$1,500.00	\$3,000.00	\$1,165.00	\$2,330.00	\$670.00
616.95	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$5,000.00	\$5,000.00	\$7,700.00	\$7,700.00	(\$2,700.00)
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	125,000.00	\$1.00	\$125,000.00	\$1.00	\$125,000.00	\$0.00
618.7	FLAGGERS	HR	540.00	\$45.00	\$24,300.00	\$40.00	\$21,600.00	\$2,700.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$150,000.00	\$150,000.00	\$250,000.00	\$250,000.00	(\$100,000.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$2,500.00	\$10,000.00	\$3,340.00	\$13,360.00	(\$3,360.00)
619.27	TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$2,500.00	\$5,000.00	\$2,650.00	\$5,300.00	(\$300.00)
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$5,000.00	\$10,000.00	\$3,230.00	\$6,460.00	\$3,540.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	1.00	\$10,000.00	\$10,000.00	\$9,000.00	\$9,000.00	\$1,000.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	70.00	\$6.00	\$420.00	\$5.50	\$385.00	\$35.00

Wednesday, October 6, 2021 Page 17 of 19



HILLSBOROUGH 43059 X-A005(028)

				A-Bide	der	PS8	<u></u> ξΕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
621.31	SINGLE DELINEATOR WITH POST	EA	119.00	\$55.00	\$6,545.00	\$55.00	\$6,545.00	\$0.00
621.32	DOUBLE DELINEATOR WITH POST	EA	19.00	\$60.00	\$1,140.00	\$60.00	\$1,140.00	\$0.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	150.00	\$5.00	\$750.00	\$4.60	\$690.00	\$60.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	92,888.00	\$0.30	\$27,866.40	\$0.24	\$22,293.12	\$5,573.28
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	263,485.00	\$0.35	\$92,219.75	\$0.18	\$47,427.30	\$44,792.45
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE		5,394.00	\$1.00	\$5,394.00	\$1.50	\$8,091.00	(\$2,697.00)
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	235.00	\$4.00	\$940.00	\$4.60	\$1,081.00	(\$141.00)
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	123.00	\$2.00	\$246.00	\$3.00	\$369.00	(\$123.00)
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	1,437.00	\$3.00	\$4,311.00	\$1.60	\$2,299.20	\$2,011.80
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	6,775.00	\$6.00	\$40,650.00	\$3.30	\$22,357.50	\$18,292.50
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	235.00	\$9.00	\$2,115.00	\$6.85	\$1,609.75	\$505.25
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	340.00	\$12.00	\$4,080.00	\$10.00	\$3,400.00	\$680.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	40,469.00	\$0.50	\$20,234.50	\$0.58	\$23,472.02	(\$3,237.52)
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	1,200.00	\$10.00	\$12,000.00	\$5.16	\$6,192.00	\$5,808.00
645.531	SILT FENCE	LF	1,200.00	\$6.00	\$7,200.00	\$3.14	\$3,768.00	\$3,432.00

Wednesday, October 6, 2021 Page 18 of 19



HILLSBOROUGH 43059 X-A005(028)

				A-Bid	der	PS8	RE	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
645.611	BONDED FIBER MATRIX (BFM)	LB	1,800.00	\$4.00	\$7,200.00	\$1.40	\$2,520.00	\$4,680.00
646.21	TURF ESTABLISHMENT WITHOUT MULCH	SY	2,500.00	\$3.00	\$7,500.00	\$1.30	\$3,250.00	\$4,250.00
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	12.00	\$100.00	\$1,200.00	\$47.00	\$564.00	\$636.00
692.	MOBILIZATION	U	1.00	\$225,000.00	\$225,000.00	\$210,000.00	\$210,000.00	\$15,000.00
698.12	FIELD OFFICE TYPE B	MON	9.00	\$3,000.00	\$27,000.00	\$1,700.00	\$15,300.00	\$11,700.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$0.00
1010.21	ASPHALT CEMENT ADJUSTMENT FOR EMULSION	\$	3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00	\$0.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	31,068.00	\$1.00	\$31,068.00	\$1.00	\$31,068.00	\$0.00

Total: \$3,593,613.90 \$3,495,863.48 \$97,750.42

Wednesday, October 6, 2021 Page 19 of 19